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1. North America (1) have eight (2) difference (3) time zone, (4) range
from

the East Coast to the West Coast. # F KA AFIF A - X7 NBFFE -
F

2.Peal S. Buck’ s novels (5) shows a keen(6) understand to China and (7)
knowledges (8) which learned by living there (9) many years.
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3. (10) It s size and color are so (11)impressed that (12) cannot (13)
forget. v )k e g d 384 A B R RA] 0 BLILT 4R o

4. 1 regret not (14) married you. My husband (15) betrayed me twice
after we (16) married. What’ s (17) bad, he (18) was married before we
(19) meet.
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5. That car (20) was (21) fix three time before I (22) buy it.
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6. Thousands of (23) peoples cannot believe that their (24) house (25)



will tear down tomorrow. = -} @ ek 2 AP 0 B PR X ﬁ“ﬁ?ﬁ;%‘rsﬁ o

T7.What (26) will you do if you (27) aren’ t his employee ? 4r% in % H_is
PR 1 g EAR? (R RAETLs R 1)

8. What (28) will you do if you (29) aren’ t his employee ? 4c% i= % PF %
R 1 g EAR? (R gL SR L)
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9.If T (30) didn” t see you this morning, you (31)would go to the wrong
classroom. 4% % F TR o uﬁ*i@::%c

1. has (# £ 8- B> » * Hix)

2. different (2% %)

3. time zones ( % #)

4. ranging (R AL F* e p > BA TG - FEoE)
5. show (-] 3 E_% #)

6. understanding of ( &3#)

7. knowledge ( # ¥ #c)

8. which is learned (##:F i » » ¥ 3 which is- &2 £H o %2 > Ed BFF
i#39)

9. for many years (#21 A% - KPEFRF » £ % for)
10. Its (#77 $£)

11. impressive (1.She is so impressing.# 4 %~ & % ;%%] ; 2. She is so
impressed. & ¥ X 4 (%4 ) & % %% )
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13.

14. having married (1. % © ”’iz?r AP B F g d 5V o fEregretis m
Al AR S KA EEL N o 2. regretiém (hFIPFE 4eing o )

15.
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it cannot (that #& & - @& > @ P3G L3F)
be forgotten (##3E i)
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has betrayed (B4 PITh o> * Bz )
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16. got married (marryZ 4% 4 > fém & * X3 > get marriedd €245 )
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19.

20.

21.

22.

23.

24.

25.

26.

21.

28.

worse (badst #i k)

had been married ( fzegiz = » A7t L BFL - I * L 2 50)
met (& 3%)

had been (2§ 2. % » £ 714 iF2 B3 » ¥ F2 2 50)
fixed (483 i)

bought (&2 %)

people (# ¥ 4cs > “% ztpeople™ £ X% > 4 ¥ #c)
houses ( % #)

be torn down (& kAt#)

would you do (IR A i3k )

weren’ t (R A3k )

would you have done (i3 &)



29. hadn’ t been (832 BXK)

30. hadn’ t seen (3 E%)

31. would have gone (&3 3% )
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